Relay—type Terminal Block

E s F . pitch 36mm

B 4
S [ EWE F1007-PCA
| —E [V | =
A = :jj/ =R (1/3) | € T AC600V 250A
| |
5 B =15 ! A 2 | $ZIEHR | DC500V  1000MQ LA E
30 36 i 3 C i lusulation Resistance| DC500V 1000MQ and over
i . L . W & E | AC3000V 15 Rkl L
@ 77— : [ L : : i il /] e i Withstands Voltage | AC3000V I1minute and over
~ B ¥ | 1 ! R lLE
© ——q* fa i 1 | | L i o = i Screw Diameter M10
Sl N\ Y R o o | BEER 15 0mm
. | - | - - | — | 1 I N P : 0| o~ : Com?ﬁatible lNire
— _/u\_ ] I R | BREERF | c1s50-10
- Recummended Crimp Terminal
<t | (— | @ |
— T_ 1§: §> é;a// i T é 5) B é i) § i 4-R2 /1 i —fi&/AZ . General Tolerance 0.5
: @) | i ==V
- : : 7 : : ~ L _ |RT§/ScaIe Y, BAHLUnit mm
20 30 |6 ]l 2 B AR 150mit i I 0D A5 9 113" CB150-10” "C 6 Al B
© The crimp terminal when using the compatible wires
150mit can be used with “CB150-10".
HELEEAE NG 113 =F 7 (BR) OEE N T2 BB E L TWET,
The crimp terminals are selected based on the crimp
@ terminals from Nichifu Co., Ltd.
<D — E
/[ - . ®
I i Z : ' .
| i : | FJyC 793y
jussaegppeeney jusaey l .
' 1 1 — T 1 T ] i_ % B @
o e | S | - T
| |
| | N {/
Y J 2 21 = = @
!l
0 E MFER D-D
SO A P.
+ Ordering Form:Type No. No.of Poles(P)
CHERRE A L RERHT R L2 12, 0Nem, /
* Connection screw:Tightening torque is 12.0N-m.
s FOMA T g ka—bE—R (F2149)
+ Other options *Jumper (F2149) : é : é : é / é / é
W4k Specifications. — —
ERZE /Part No. 3% /Part No. & Material #R#& . Standard ~ti%/Size Q038 /Treatment 5% /Remark &:ﬁﬁ E_E
1 FFSE - Intermediate base | K)#—HR%—F Polycarbonate UL94V-0 B 4 Black @ @
2 @i+ A End base A | ®YH#—A%—bF Polycarbonate UL94V-0 H 4 Black
3 @i+ B End base B | ®UA—®%—F Polycarbonate UL94V-0 H {4 Black
4 EESH Terminal T Brass C2680R W= 3.0 =y VA y%  Nickel-Plated
5 FhERRAR L B Screw &k Steel SWCH M10X1.5X200 S E A= Trivdent Chromate Treatment P SHEF ARV b Type@ T@%{/Poles 11:) 2P 31:) 413 5P 6P 71:) 8P 91:) 101:) 1113
6 NFF > b Hexagon nut k%S Steel SWCH M10X1.5 Sy rA=bN Trivdent Chronte Tratment
8 T IN— Cover R H—HR%—=F Polycarbonate UL94V-0 W E t1.0 % B Transparence B 60 96 132 168 204 240 276 312 348 384 420
9 HA— 1k E R Cover Retaing scren R Brass C2700W M3X0.5X80 | =9k lAyF  Nickel-Plated MSFEARA Y Type® C 54 90 126 162 198 234 270 306 342 378 414
10 NFF > b Hexagon nut k58 Steel SWCH M3X0.5 Sy mA=b  Trient Chromate Tretment
11 sHifEAR L R Comnecting bolt Bk Steel SWCH M4 X 0.7 ZM7 2 A—N  Trivdlent Chromate Treatment F
12 sHifEJw b Connecting nut &k Steel SWCH M4 X 0.7 S A=b  Trivdent Chronate Trestment




